
Calcul les opérations     :   

639 - ( 239 + 200 ) =

   Je calcule l’opération qui est dans les parenthèses          Je continue le calcul        



Calcul les opérations     :   

450 - ( 128 + 2022 ) =

   Je calcule l’opération qui est dans les parenthèses          Je continue le calcul        



Calcul les opérations     :   

300 - ( 140 + 160 ) =

   Je calcule l’opération qui est dans les parenthèses          Je continue le calcul        



Calcul les opérations     :   

542 - ( 123 + 209 ) =

   Je calcule l’opération qui est dans les parenthèses          Je continue le calcul        



Calcul les opérations     :   

748 - ( 126 + 357 ) =

   Je calcule l’opération qui est dans les parenthèses          Je continue le calcul        



Calcul les opérations     :   

944 - ( 652 + 198 ) =

   Je calcule l’opération qui est dans les parenthèses          Je continue le calcul        



Calcul les opérations     :   

826 - ( 357 + 328 ) =

   Je calcule l’opération qui est dans les parenthèses          Je continue le calcul        



Calcul les opérations     :   

622 - ( 168 + 159 ) =

   Je calcule l’opération qui est dans les parenthèses          Je continue le calcul        



Calcul les opérations     :   

247 - ( 189 + 28 ) =

   Je calcule l’opération qui est dans les parenthèses          Je continue le calcul        



Calcul les opérations     :   

359 - ( 104 + 77 ) =

   Je calcule l’opération qui est dans les parenthèses          Je continue le calcul        



Calcul les opérations     :   

597 - ( 315 + 99 ) =

   Je calcule l’opération qui est dans les parenthèses          Je continue le calcul        



Calcul les opérations     :   

298 - ( 57 + 129 ) =

   Je calcule l’opération qui est dans les parenthèses          Je continue le calcul        


